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Ques # :1

It is desirable to use Groundwater than Surface water because:

1) The temperature and chemical composition of groundwater is nearly constant
2) Groundwater storage is not seriously affected by short droughts

3) It is stored by nature through many years of recharge

4) all of these
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Ques # :2

Groundwater development is discouraged in some areas because:

1) Underlain rocks have insufficient porosity and permeability to yield much water to wells

2) TDS content in groundwater is greater than that in surface water

3) In regions of high precipitation cost of developing wells is higher than the cost of developing small streams

4) All of these
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Ques # :3

In the vicinity of cities the TDS is higher in precipitation because -

1) The dust and smoke produced by factories

2) Dissolved gases

3) There are no TDS in precipitation

4) The dust and smoke produced by factories and Dissolved urban gases
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Ques # 4

The amount of energy required to evaporate one cubic centimetre of water is -
1) 597 calories

2) 1000 calories

3) 1597 calories

4) 100 calories

S FgfaF YT I F arefigaor & fod st 3T A smaegwar g 8 -
1) 597 ey
2) 1000 ey
3) 1597 ey
4) 100 ey



Ques # :5

Vadose water is in the vadose zone that includes:
1) Groundwater and capillary water

2) Capillary water, soil water and groundwater

3) Capillary water, gravitational water and soil water
4) Groundwater, gravitational water and soil water
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Ques # :6

Water table is:

1) The surface in unconfined material along which the hydrostatic pressure is equal to the atmospheric pressure
2) The surface separating the capillary fringe from the zone of saturation

3) Water level surface in wells that tap an unconfined saturated material

4) All of these
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Ques # 7

Aquitards :



1) are layers of clay and silt that retard water flow underground and act as barriers for groundwater
2) direct the surface water that seeps down and replenishes aquifers

3) Both Statement are incorrect

4) Both Statements are correct
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Ques # :8

Water level fluctuations are due to:
1) changes in groundwater storage

2) deformation of aquifers

3) fluctuations of atmospheric pressure
4) all of these
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Ques # :9
If there are 10~ moles per liter of H' in water

1) then the pH of water is 5
2) then it is pure water



3) then water contains no dissociated OH™ ions
4) then the Eh of water is 10
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Ques # :10

63 ppm Mg’ (At wt of Mg = 24.32, valency =2) is equal to

1) 5.19 epm
2) 6.7 epm
3) 63 epm
4) 6.3 epm

63 ppm Mg (At wt of Mg = 24.32, valency =2)

= & SRR 8
1) 5.19 epm
2) 6.7 epm
3) 63 epm
4) 6.3 epm
Ques # :11

Specific electric conductance of potable subsurface water ranges from -
1) 30 to 2000 micromhos
2) 0.055 to 0.5 micromhos



3) 45000 to 55000 micromhos
4) 5.0 to 30 micromhos

i A7 sfarer #1 fAfArse ey yamgsca fasr grar e -
1) 30 to 2000 micromhos

2) 0.055 to 0.5 micromhos

3) 45000 to 55000 micromhos

4) 5.0 to 30 micromhos

Ques # :12

Water for domestic and industrial uses should have less than 1000 ppm TDS and for agricultural uses less than 3000 ppm TDS.
1) True

2) false

3) about 300,000 ppm

4) 10 and 100 ppm TDS respectively
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2) Trert

3) STaT3TaT 300,000 ppm

4) 10 T 100 ppm TDS

Ques # :13

Water that has never been part of hydrosphere is called
1) Juvenile water

2) Ice water

3) Metamorphic water

4) Connate water

S w3t SRR F1 RewwT 7181 @1 98 A FEAAT 8



Ques # :14

A mixture of miscible salt water and fresh water is treated as homogeneous
1) True

2) False

3) only if density does not vary from place to place

4) is treated as heterogeneous
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Ques # :15

Porosity will be highest for cubical array of
1) thombs

2) spheres

3) cubes

4) rectangular sandstones pieces
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D) fgwa &Yt
2)



EICEAN
3 g
4) IrrarER AT F s

Ques # :16

Hydraulic conductivity depends on properties of the fluid as well as characteristics of the medium
1) Darcy failed to recognise the above fact

2) Dupuit failed to recognise the above fact

3) Both Darcy and Dupuit failed to recognise the above fact

4) Darcy was aware of the above fact
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Ques # :17

Intrinsic permeability is characteristic of the
1) properties of soil and fluid

2) properties of soil (medium)

3) properties of fluid

4) properties of groundwater
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4) s1ater & o7

Ques # :18

Reynold's No s given as . if Vs specihe discharge, D 1s charactenstc length
and v is kinematic viscosity

D Np= VD/N
2 Ng = Vv/D
Y N =Dv/V
9 Nrg=V + D/v

afg V = wfafiss B, D = oe&iftia s,
v = FerfaE R 2, ar tefes a0 g ¢ -
D Nr=VD/v

2> Nrp=Vv/D

Y N =Dv/V

4) Nr=V +D/v

Ques # :19

The amount of water used in storage released from a column of aquifer with unit cross section under a unit decline of head is represented as:

1) K
2) S
3 T
4 A
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) K



2) S

) T
4) A
Ques # :20

For every meter (m) of fresh water above mean sea level, the thickness of the fresh water lens resting on the salt water is about'
1) 35m
2) 36m
3) 40m
4) 37m

ol el W T T AF meter g I & o 7t W oge § 30 g e F oo AT AlerS s e &
1) 35m
2) 36m
3) 40m
4) 37m

Ques # :21

The rocks generally have distinctive porosity and permeability and for that a geologist during exploration of subsurface water first seeks help by
utilizing

1) petrography

2) drilling

3) seismic methods of exploration

4) magnetic methods of exploration
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1) Feafew 3=awor ugfa

Ques # :22

Total water available for recharge, ease of recharge and quantity of groundwater discharge at the surface is determined by
1) Hydrologic methods of prospecting

2) Dowsing

3) Geological maps

4) Atmospheric analysis
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Ques # :23

The average permeability of igneous and plutonic rocks with depth will generally
1) increase

2) decrease

3) not change

4) highly increase

TR TUT Seifars TETel Y A H TRIFIAT AR 9T TS A
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2) g
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Ques # :24

Difference in yield in wells of igneous and metamorphic rock aquifers is because of
1) differences of mineralogy

2) differences in degree of weathering

3) differences in degree of compaction

4) None of these
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Ques # :25

Pathological organisms will move efficiently in alluvial aquifers if
1) soil is thin or absent over water bearing aquifers

2) wells are unprotected

3) there is storm runoff in wells

4) all of these
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Ques # :26

In volcanic rock aquifers, following rocks will generally have high porosity but very low permeability



1) Basalts

2) Tuffs

3) Dike rocks
4) Intrusives

AT Tl F STersal A fover Teret Y R fererar arfarer gheft weq arer=rar w7 graft
D seree

2) e

3) s

4) g=firg

Ques # :27

In Cenozoic sediments the salinity of connate water is
1) less than that of sea water

2) more than that of sea water

3) equal to the sea water

4) less than that of meteoric water

QATSASH FTeT & HAHET H Flele STl Y GTRI™AAT
D) w1 oter & e gl

2) T ST & 31fee grefr

3) S STeT § SR gl

4) auT & STl & FHa gl

Ques # :28

The reduction of artesian pressure in valley deposits will induce
1) expansion of aquifers
2) compaction of aquifers



3) compaction of aquifers and adjacent silts and clays
4) expansion of aquifers and adjacent silts and clays

ey fAeiT # IiRusT gaa A g W

D) Srersta &1 fawam grem

2) STT3Ye T TeeteT BT
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Ques # :29

Chemical character of groundwater in large valleys of tectonic origin will generally be
1) highly variable

2) the same

3) always free of salinity induced from ancient sea water

4) always free of evaporitic solutions

faadfa® @ scueer gt mfeal & siorer & TarIfa ot
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2) fe gl

3) qureht A STquirdr & Ferd gier
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Ques # :30

The greatest danger of organic pollution is

1) in areas of extremely permeable auifers

2) in areas of improper waste-disposable facilities
3) not a problem in wells within large valleys

4) all of these



e feleh JGUOT T A foh TR

D) srcaftres urere STefeycll & &7 & gIam
2) 3R et fREARoT 817 W grem

3) 73y enfeat & 31t 3 T5 T A el
4) s

Ques # :31

What type of water bearing material has the most uniform hydrogeologic properties ?
1) sandstone

2) conglomerate

3) evaporite

4) dune sand (Consolidated)

FleT & ST WRAT T A wET F sySrerdhY 0T AT g
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Ques # :32

The average chemical quality of groundwater is poorer in desert regions because
1) slow circulation of ground water will slow the flushing of connate water

2) salt contained in rain will get concentrated at the surface

3) fine dust in soluble salts blown from playas

4) all of these
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Ques # :33

Varying electrode spacing in resistivity survey helps in
1) vertical investigation of an aquifer

2) noting changes in quality of groundwater

3) knowing impermeable formations

4) all of these
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Ques # :34

The ground around electrodes during resistivity survey is moistened to
1) establish proper contact with earth

2) to break the conductivity

3) decrease the salinity of the ground

4) None of these
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Ques # :35

The sub-surface salt water boundaries become apparent on a resistivity-depth curve due to
1) increase in resistivity

2) decrease in resistivity

3) straightening of the curve

4) refraction of the curve
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Ques # :36

Seismic waves may be reflected or refracted
1) at interface where a velocity change occurs
2) in homogeneous formations

3) in groundwater

4) in ocean water

fafeas fFoit &1 WIads a1 3r9adT FeTgiarg ?
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Ques # :37

Resistivity Log is affected by

1) fluid within a well and ground water
2) character of the surrounding strata
3) Well diameter

4) all of these
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Ques # :38

In SP log, flow from the formation into the wells shows
1) positive values

2) negative values

3) no change in values

4) sharp change in negative values
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Ques # :39

To note water from different aquifers intersected by a well, readings are taken of



1) SP log

2) Resistivity log
3) Temperature log
4) Calliper log

IfE T A FE STTs[cl { STel AT {1 ¢ AV 3HHT I fHFaQ Terarg ?
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2) e & et (Giffer®)
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Ques # :40

Well diameters along a well can be measured with the help of
1) Calliper log

2) Neutron log

3) Temperature log

4) Resistivity log

FU HTIGUS H F F IGold ST T Il 57 § AT SATATE 2
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Ques # 41

Tracer—techniques are adopted to note
1) Ground water velocity

2) Ground water quality

3) Ground water occurrence



4) Ground water permeability

STT-UG T AT IAT I Y IYATE AT § 2
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2) &1 STet Y A[UTdedT

3) 81 STt iy 3ufeAfY
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Ques # :42

Which is used in Radioactive logs

1) Neutron rays

2) gamma particles

3) Both Gamma particles and neutron rays
4) all of these

WeAeiFea der & oy T 3UART TR 2
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Ques # :43

The equation h*=W/.0512K (R*—r*) shows depth to salt water

at any location is function of

1) rainfall recharge, size of the island and permeability

2) rainfall recharge and permeability
3) rainfall recharge and size of the island
4) size of the island and permeability
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&R STet b1 TeRTs gorfar foa & Irifad € 2
D) et Srer qevsior, gdia &1 fawar 3R aReran

2) gt ST GeA9TROT T IRATFI AT
3) o STer qeA9RoT e gd & fawdar
4) gdig &1 faTar aT aRIFIa

Ques # :44

Modification in composition of sea water entering an aquifer can occur

1) by base exchange between water and minerals of aquifer

2) sulphate reduction, solution and precipitation

3) by base exchange between water and minerals of aquifer & sulphate reduction, solution and precipitation
4) None of these

HHG & AN STel FT T3] H T F SRIeT agera fovet FRON F g Fhar g 2
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Ques # :45

One of the following does not have significant contribution in establishing hydraulics of ground water.
1) Henry Darcy

2) N. Steno

3) J. Dupuit

4) A. Theim
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Ques # :46

Initially dry soil that will absorb maximum moisture in contact with atmosphere is called as
1) wilting point

2) capillary fringe

3) hygroscopic coefficient

4) moisture point

& T araravor & wFaE A 3 W AflFan A dw adt g su Mg FwrFea § 2
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Ques # :47

Soil moisture is measured by Neutron Scattering based on the fact that fast neutrons are slowed by collisions with
1) hydrogen

2) oxygen

3) chlorine

4) water

=ggier wehrofer fafer & g &1 a1l arh el 7, T Hora & FAfH A 1 eha AET A QI
D) gregie=



2) 3ifereirotet
3) FardieT
4) 5o

Ques # :48

As per Darcy’s law Flow rate through porous media is
1) inversely proportional to head loss

2) not in accordance with hydraulic gradient

3) proportional to flow path length

4) None of these

STHY T fATH Fgar & Y BT Areaw & yag frafa
D) gara &1 awaft (&3 @) & gfaareea &
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Ques # :49

The Water which , results due to mixing of fresh water and sea water is -
1) Saline Water

2) Alkaline Water

3) Brakish Water

4) Acidic Water

qE STl St Faess otel 3R WHEY 5ol & FAsor § aear @
D) sraufer srer
2) & STt
3) e ST



4) 31FT ST

Ques # :50

Permeablity K is expressed as Q/A(dh/dl) that shows K has dimensions of
1) velocity

2) area

3) acceleration

4) gravity

ararFaar K faafara gt 85 Q/A(dh/dl) , TETaR K T Far 9T 8 2
1) a7

2) &

3) T

4) Teca

Ques # :51

Equilibrium (Thiem) equation
Q =2TKb h - hy, /In (r /1)
enables determination of

1) permeablity from a pumped well

2) porosity from a pumped well

3) permeability from nonpumping well
4) transmissivity from nonpumped well



ferm IHIHBI0T Q = 2TKb h - hy, /In (r,/ry)
3 g BT gaT 7T ST & 2
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Ques # :52

Theis equation h,—h = 114.6Q/T W(u),
where W(u) is called as well function.
The argument (u) is given by

1)
u=1.87r’5/Tt

2 u=2.87r%S/Tt

3)  u=3.87r%/Tt
Y u=4.87r/Tt

g BT h,— h = 114.6Q/T W(u), & W(u) B
dc5 e[ Bed & (u) fbad aTae & 7

1
) u=1.87r’s/Tt

) u=2.87r/Tt
3) u=3.87r%/Tt
D u=4.87r /Tt



Ques # :53

The resistivity of Fresh water is around ‘20 ohm m’, its conductivity therefore should be about
1) 500 Seimens/cm

2) 500 microS/cm

3) 500 microS/meter

4) 500 microS/feet

G el Y TAFETAE ST ' 20 ohm m ' § Y FHRY TR F4T 11T 2
1) 500 Seimens/cm

2) 500 microS/cm

3) 500 microS/meter

4) 500 microS/feet

Ques # :54

The units of Yield, Transmissivity and drawdown are
1 .
) m?/s, m?/s and m respectively

2 .
) m?/s, m?/s and m respectively

3) m?/s, m?/s and m? respectively

4) m/s, m?/s and m respectively
Aoz, TREATATAE TUT STATadd ' vy & AT SATATR 2
1) m?3/s, m?/s der m

2) m?fs, m?/s et=r m

3) m3/s, m%/s aem m?

4) m/s, m?/s T=m m



Ques # :55

Magnetic resonance sounding method for ground water exploration has many advantages such as: it is only geophysical method that is capable of
estimating permeability but has disadvange such as:

1) not suitable for volcanic rocks

2) it is sensitive to power lines, pipes, fences

3) the maximum depth which can be reached to detect an aquifer layer is 150m.
4) all of these

gmmﬁw#ﬁﬁﬁﬁﬁmﬁﬁvﬁﬂ#a@aaﬁﬁ%ﬁ#wﬁﬁmwmﬁmaﬁ%,wﬁﬂﬁmaﬁm%?
1) srar wrgreit #F g e 7€ S gt

2) qfeR TSl , ST AT SATTordl & SHeRY IUTAT ISeST STl §

3) 150 m STT3Yd ITERTS Y TNAT STET ek Tg oAT9e 3 TETH &

4) gt

Ques # :56

Diseases which can spread through ground water are

1) typhoid , cholera and Hypertension

2) typhoid,amoebic dysentery and diabetes

3) typhoid, amoebic dysentery , infectious hepatitis and malaria
4) typhoid, cholera, amoebic dysentery and infectious hepatitis

3y o7er 2 FovaeT et &Y e & -

D) ergwres , &9 3R o9 WA

2) TrgwIss, e oFd 3R AYAE

3) erswres, IS Ed , GHTHS Tehel Ay 3R FARAT
%) ergwrEs, T, 3 ard R TR Thaeie




Ques # :57

The acceptable concentration of fluoride in drinking water is about:
1) 1.5 mg/L.

2) 1.5 g/L

3) 1.5 pg/L

4) 1.5 Kg/L

dist AT el H FARTSS Y AT fhdsiT gt Tfge 2
1) 1.5 mg/L.

2)1.5g/L

3) 1.5 pg/L

4) 1.5 Kg/L

Ques # :58

The acceptable level as defined by WHO for maximum concentrations of arsenic in safe drinking water is
1) 0.01 mg/L.

2) 0.10 mg/L

3) 1.00 mg/L

4) 0.01 g/L

WHO SaRT YATOr A forer St AT GRf&ra 9 o1 & foraalt 8 2
1) 0.01 mg/L.

2) 0.10 mg/L

3) 1.00 mg/L

4)0.01 g/L

Ques # :59

Arsenic contamination of the groundwater in Bangladesh around Ganga Delta is a serious problem. It is one of the solutions is:
1) to tap into deeper groundwater
2) to tap into shallow groundwater



3) to tap very shallow groundwater
4) None of these

qeege & IAAF ¥ THAT T U R TATAT Y, T WHAEIAT 191 ST 8F & ITH I §, T I FIA T U IU FAT ) THhal §

D) wger a8 o Ster 1 ST
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Ques # :60

Fluoride concentration in water can be reduced by using adsorbents such as:
1) activated charcoal and alumina

2) bentonite and kaolinite

3) red mud and rice husk

4) all of these

ST H FARTSS Y AT o i F 3uaer  FA A smawar &
D) afshar aenrer qT TelfHeT

2) Jerarge aut H3nfae

3) airer fEY T araer H aTE

4) gefr

Ques # :61

The ground water problems being faced in Jodhpur are:
1) Declining water level, over exploitation of groundwater
2) Fluoride and nitrate pollution

3) Rising water level, leakage through sewerage system



4) all of these

SETqT # o STl § Foa O FAT HATATE ?

1) qrelt &1 o B ST 9T 3T har § M0 &geT

2) FeIRTSS AT ATSLT T TGN

3) STel EX &1 FGT 3T SATIT 9T Alel Heh A 1Y &1 Rama
4) s

Ques # :62

Roof top rain water harvesting has been made mandatory in state owned buildings of plot size more than
1) 300 sq.m.
2) 500 sq.m
3) 600 sq.m
4) 200 sq.m

a9 Ster EE0T & fAT TR fAd & IquR e i arg & care @ S3mer a1 w1 (wHrY fafesan ) gg sl g 2
1) 300 sq.m.
2) 500 sgq.m
3) 600 sq.m
4) 200 sq.m

Ques # :63

Tick mark the correct statement

1) Recharge to aquifer during normal rain fall in Western Rajasthan is inadequate
2) Major portion of precipitation in Western Rajasthan gets lost as run off

3) Identification of potential aquifers is still needed in Western Rajasthan

4) all of these

e a4 Rfega Ao -
1)



3 T STel ITREHT TSTEUT & SToT8] T YeTaiR0T & Ty SATehreh &
2) QiR ToTEATT & auT STel T 93T TREdT 3r9dred &l Sar g
3) qiRers Y TsTEeTet 37 3ITS SToragclt T TgareT 38 IR FL ahr g
4) gafr

Ques # :64

The advantages of watershed development are:

1) Arrests soil erosion, improves soil moisture and recharges ground water

2) Reclaims eroded land and reduces flood

3) Arrests soil erosion, improves soil moisture and recharges ground water and Reclaims eroded land and reduces flood, both are correct
4) Only Arrests soil erosion, improves soil moisture and recharges ground water, is correct

STATNI (ATeNE) RAFIT F4Y 3raeaw & 2

D) 71e1 7 shera 3R Y et & AT 9 ST IR0 F HETId &

2) 37T A Y UeT: 3UYF T § AT TG Adhet 3 HERIS §

3) FeT &1 Fera 3R THT Al § FUT 87 ST YAR0T 7 TERIS § TUT FIUgad HfHA Y IoT: 3UYFd T § FAT q1G ohed 7 TERIF ¢,
el Ter &

4) Faet ;77aT HT FHerd 3 TH Aol § FAUT 8 ST IART 7 Here ¢ T &

Ques # :65

How much of Earth's water is stored in underground aquifiers ?
1) Less than 1 %

2)2%

3)9.5%

4)5 %

gt 1 e wfererd srer sffera e[ & w9 7 viFaw F srsRa gar e
1)



1% H e
2)2 %
3)9.5%

4) 5%

Ques # :66

An area of land that contains a common set of streams and rivers that all drain into a single larger body is called watershed for e.g.,
1) Mississippi River

2) Jaisamand Lake

3) Stream and ocean

4) all of these

a8 A &1 REHT W AT U 8 AT AT Afedr @it 8§ auT aft 7Y Arel v fy T X 9l AT FRA §, aeds FgA e,
3GERUT & fad

D) fafafady 7y

2) SrgHE el

3) Y o T

4) gefr

Ques # :67

Rainfall is the main source of ground water recharge, The average annual rainfall in Western Rajasthan is about
1) 10cm

2) 30cm

3) 100cm

4) 1000mm

qTREHY TSTEUT H 37Tl YAROT T HET FAIT qulorel ¢, Tei Jitacer gfer af fraet arier gy @ 2
1) 10cm
2) 30cm
3) 100cm



4) 1000mm

Ques # :68

A confined aquifer has a transmissivity of 40m*/day.
The slope of the piezometric surface is 0.25 m/km.
How much water per day flows through an aguifer

per kilometre width of the aquifer ? (hint Q = WTi)

D 100 m?/day
2 10 m?/day

3)  1m?/day

Y 1000 m*/day

qRe& STad &I Ziffafdet & 40m’/day
dqeT UtSifed 9dg BT ™ & 0.25 m/km
39 Sferyd ? ufd &7 396 ufd km I &

feara A faar urt @@ 2 (hint Q= WTi)

D 100 m?/day

2) 10 m?/day
3) 1 m3/day

4) 1000 m?/day

Ques # :69

Radioactive waste disposal can cause ground water pollution. Possible sites for radio active waste disposal are



1) salt domes and brine aquifers

2) subterranean cavity created by underground nuclear explosion
3) deep mines

4) all of these

AAIefFed Fern fATdRor s{orel Y Yqfid X Fhd1 ¢, 30 fAvaror 1 wenfad sere e @Y avclt &
D) wree g1a 3k @n Srereqa

2) HfFeT AYFFAIR ST F A T3¢

3) el e

4) gefr

Ques # :70

Ground water contamination due to coal mining is caused by
1) oxidation of pyrite

2) formation of sulfuric acid and iron hydroxide

3) decrease in pH due to sulphate concentration

4) all of these

FIIST GeTeT & A FAe=T FROT ¥ TG g AT ¥
D) qrstrse & sifediewor @

2) Fewieh 3FeT 2T 3T ETSSHTFATSS Fofat
3) gothe & $ROT pH Tt

4) gt

Ques # ;71

Baoris and Jhalra's like traditional water bodies of western Rajasthan are :-
1) Surface and ground water bodies
2) Only surface water bodies



3) Only ground water bodies
4) None of these

TRGH TSTEYTST F S1as! UG SATR ST TREIRTITT STl TN & :-
D) gcréy v sperer TG

2) Shael FAEY STl EAIT

3) el sTel T

Y ga1dt A 1S oA

Ques # :72

Remote Sensing for ground water involves sensing of
1) energy source and radiation

2) interaction with targets

3) atmospheric interaction

4) all of these

3TaTer Y Tier H YT Waga A w1 71 Wage frar e @
1) Yfeuerst qar vastt a

2) TRAIE ¥ gFaeY

3) araTeRoiT gFaey

4) gefr

Ques # :73

Exploration by resistivity method helps in assessing the quality of groundwater because
1) Resistivity increases with more dissolved solids in water

2) Distilled water has very high conductivity

3) Resistivity decreases with increasing amount of ions

4) Water is not a very good electrolyte



IREARAE 3r=awor AT A 5] STer Y IUTardT HT TAT 97 ST § ; FANH
1) rer % et et & TREEIE 9 e

2) 3T STef B TTeTehell S AR BT g

3) TREATAE Te ST § ST 3=t Y crerd 96 Sl §

) ST TSI SFeIISE T8l &lcT

Ques # :74

Free air correction is applied in gravity method of exploration because
1) measured value of gravity decrease with the increase in the elevation
2) measured value of gravity increases with the increase in the elevation

Y the equation g,= G M/R’
1S not correct

4) isostatic correction is not reqired in geodetic survey

FRAE r=awor AT & Br-vIT-HIFAT FT 39ANT g1 §, FifF
1) Far$ et @ ATAE 1 g aRAT0T He Frar
2) Fars gear & ATAE 1 AT IRHATT §¢ AT §

) gHtepRuT g, = G M/R> TEI T8l &

4) foraefes ad F 3rsare s I Y HTaRTHAT AT B

Ques # :75

The magnetic minerals such as magnetite, ilmenite, pyrrhotite etc locally influences the Earth’s field depending upon a factor called
1) dielectric constant

2) conductivity

3) permeability



4) resistivity

T @i o Avaerse seAase, Rterse anfy ged & grada fies 1 wnfaa e sRE & MR R aa

Ques # :76

The variation in the velocity of elastic seismic waves is dependent upon the rock type and its degree of consolidation therefore
1) their velocity will not vary for the same rock type such as shale

2) their velocity will vary for the same rock type such as shale

3) their velocity will not vary for the same rock type such as granite

4) their velocity will not vary for the same rock type such as sandstone

fafea® fFoit & 397 & aftadsr Te@! & yeg 31 ST 91 @i #3ar & safaw
1) gaATe &9 &7 et S Aer 7 397 FET Sgorm

2) HHTT & T Tt S Aol & 397 F gRad= grem

3) HATT ®T T T S IATSC I 39T I&T TGamm

4) FHATT TG T TETeT S YT & 397 AT ol

Ques # :77

To determine accurate depth of the beds especially to locate structural traps for ground water, the exploration method employed is
1) electromagnetic method

2) gravity metod

3) seismic reflection method

4) magnetic metod



TETA! Y I Y T EH HEY TGS FT IAT 91 & FHd , GHFT ol F O TAeqws &o8 Y TarT & o e sr=awor fAfer
ST YT fFATSATATR 2

D saeeidieafes

2) Ifadr

3) fafers Roaere

1) Heafes

Ques # :78

Mark the true statement

1) compressed air is used in pneumatic drills

2) percussion drill can not be used for making blast holes
3) hammer drills can not be used as hand held drills

4) diamond drills are advisable in the soft rock formations

8 sy Rifcga S -

D) sqgife fger 3 wopfard gar &1 ST gt &

2) Reneret 3ol & soiree T w18t fohd) St

3) TFR ool &1 £US gos oo Y aXg 78T 39T e Srar
4) SIOHAS %F—I'o-l{d-l tlglo-l\i F}?ﬁ??rs’q?fﬁﬁaﬁ%

Ques # :79

Ground penetrating radar(GPR) and seismic reflection techniques are analogous because

1) both techniques record the time required for a wave to travel to the interface between two formations and then return to the surface

2) both techniques record the velocity required for a wave to travel to the interface between two formations and then return to the surface

3) both techniques do not record the time required for a wave to travel to the interface between two formations and then return to the surface

4) both techniques do not record the velocity required for a wave to travel to the interface between two formations and then return to the surface

Sdi3mR a2 RAfEAs RedFerT aafad Afer aae § F9ife



1) g1eit erefent 3 aREM & aT IR & SeThd deh STt 37TeT ST FHI 19T ST &

2) @Yot eheitent 3 TRAIT T &T WAl o SeThd deh STTeY 31TeT el ITTy TS ST &

3) Xt aehetieRT 3 AN T &Y TR F ST d I ST 1ot &1 FHY AT9T STeT ST &
4) 1At dehelten! 7 TN T &7 XAl 3 ST deh STTel 3T T 1T AT AT ST &

Ques # :80

If the pumping rate is 1000 m* /day and
the drawdownis 30 m

D the specific capacity of the well is 33.3 m¥/day/m
2) the transmissivity of the well is 33.3 m*/day/m
3) the storage coefficient of the well is 33.3 m¥/day/m

4) All of these
=Ifc ufddst 3¢ 1000m? / day i3 Scitara«
(gr=1361) 30 mEdr

D $u Pl fafdee grorar 2isit 33.3 m® / day /m

2) g St cif3atiad Aeft 33.3 m* / day /m
3) ¢u Bl swsRur auIics Eler 33.3 m? / day /m

4) asiy

Ques # :81

For industrial, municipal or irrigation purpose the transmissivity of aquifer should generally be more than

D 125 m?/day



2 125 m?/day/m
3) 125 m?/day
Y 225 m?/day

e , Fyfaflae aur = & o Srasqa fr aftafafad awreaa: e & sfts gl oo
1) 125 m2/day

2) 125 m?/day/m

3) 125 m*/day
4) 225 m?/day

Ques # :82

The flow of groundwater to the well forms a cone of depression. The volume of cone is

V'1/3 4TTr*h
21/3 Tt
¥1/3 Ttr'h
Y 4/3 T

FT { el CATIT & SRTT FIeT AT U (ITATHT A4F) TTAT &, AF (FeA) FT HAAA eI BYATS -
Y'1/3 47Tr’h

21/3 Ttr

Y1/3 Ttr’h

Y 4/3 TOr



Ques # :83

Groundwater flow velocity can be measured with the help of
1) Can not be measured

2) Tracers

3) dowsing

4) It remains constant

sTaTer Y AANTAET (I9M) FT ATeheleT fhadht Aeg W P ITHFaT S ?
D) &t Ay ST gena

) T AT I

3) e

4) e T

Ques # :84

The Flow Net is

1) A set of intersecting flow lines and equipotential lines
2) A set of meandering river lines

3) A set of wind blowing directions

4) A set of groundwater velocity lines

Tl AC FATEIATE ?

D) 3o # el el Y3t 3R awfasTa Y@ @ de
2) gATaER et i Y@ & dC

3) gar & frem3r & A

4) s1atet qeT Y@@m3tt & de

Ques # :85



Water having more than 100,000 mg/1 T D S is called
1) Saline water

2) Brackish water

3) Brine water

4) Fresh water

s[aTer frE®T TDS 100,000 mg/1 ¥ 30T B, FAT FEATAT & ?
D @rr ot

2) FAERT T

3) FrqoT Sl

4) erg areft

Ques # :86

Radionuclide contamination in groundwater is measured in

1) ppm
2) ppb

3) pCil
4) gm/l

serer 7 If3Aerst ugwor it frw F rar STaT @ 2
1) ppm
2) ppb
3) pCi/l
4) gm/l

Ques # :87
The energy responsible for generating tornadoes and hurricane comes from water because it has

1) High heat capacity
2) Highest heat of vaporization



3) Highest solubility
4) Quick dissociation

a1 31 TS 3wt YA arelt ARF Tl I et § /4t 2
1)qﬁﬁaﬁrmaﬂma§am%

2) grodeuT ST 3SAT GaTT &

3) Hafifre gererefierar

4) a1l 3 GRS 8Y ST &

Ques # :88

The source of Organo-mercury compounds as pollutants in ground water are
1) Gasoline

2) Fungicides

3) Fertilizers

4) Septic tanks

o A SHa-AH AAF v FTET FATE 2
D) drarelrer

2) whtearelt

3) 3&

D Aftew &

Ques # :89

The source of lead in groundwater as pollutant is
1) Gasoline

2) Fungicides

3) Fertilizers

4) Septic tanks



Tl A IS YGTH T TAT FATE ?
D drerelrsr

2) el

3) 3=

1) dfteer &

Ques # :90

Ozone in the atmosphere is destroyed by
1) photodissociation by UV rays

2) reaction with NO

3) reaction with chlorofluorcarbons

4) all of these

IRIHEE # 3T HW 5 g AT §
D uv oot garr werfzafadere
2) NO & 3T & sror

3) FARIFAR IR A T3haT & HROT
4) s

Ques # 91

Relative humidity is

D' amount of water vapour per m* of air

2) % of maximum amount of water vapour that air can hold
3) amount of water vapour per m?® of air and % of maximum amount of water vapour that air can hold, both are correct
4) None of these



AT MTgaT FAT BT &
D zar o 7f $r 9fy meAm

2) arg # 31 w1 Hr AT 7 ufaRra
3) gam 3 o7 Y 9y m® AT AT I 3 3R T B AT A, QA FE

9 g @ P i

Ques # :92

The ocean have an average salinity of 34.77 % while fresh water has
1) 0 % salinity

2) salinity of 0.2 to 4%

3) 0.2 % salinity

4) 4 % salinity

HETATIRT Y AT TGUTT 34.77 % 8, STafF Y el Y erqorar fraelr § 2
1)0%

2)02%T4%

3)0.2%

4) 4 %

Ques # :93

Monsoon is the wind system that

1) never fluctuates

2) maintains its course in the opposite season

3) reverses its course in the opposite seasons

4) has nothing to do with the rotation of the earth

AT aY 9aet a9 § At

D fer warg
2)



faodra sl o e w7i sgerar &
3) Ryl AtgH & e aga &ary
4) gedt & guie & GFeTY 8 W@

Ques # :94

Which feature is a sign of Karst Topography ?
1) Sinkholes

2) Artesian Wells

3) Moraines

4) Anticline

FIEE TATH I F1 feg Flaar g ?
1) i gYer

2) #fEfaaet ar

3) R

4) Tedrohese

Ques # :95

During ice ages the sea level was :-
1) 5km lower than today

2) same as today

3) higher than today

4) 120m lower than today

RAFT A Tg FER FATAT?
Dadaa @5 km o

2) g&AT forae
3)



IaHATT § 31T
4) TFATT T 120 m FH

Ques # :96

Water is critical in maintaining our uniform body temperature because it has:
1) High heat capacity

2) Highest heat of vaporization

3) Highest solubility

4) Quick dissociation

m#aﬁrﬂ:mﬁmwﬁﬁmma@m%wﬁﬁs:-
1)qﬁﬁaﬁrmaﬂma§am%

2) gredieror &Y 3SAT T &

3) Hafifere gererefierar

4) a1l 3 GRS 8Y ST &

Ques # :97

Water in the atmosphere:

1) Radiates back heat received from the Sun

2) Cannot radiate back heat received from the Sun
3) Has no effect on heat received from the Sun

4) Makes the Sun look brighter

ARIASH H STl Y FAT HIAFT 2

1) g i 3 e s Rt vt e
2) < i 3t P arrer Rt 7t T
3) I A ITC FoiT T SH I IR ALT el
4) g STeT Soorad T §




Ques # :98

‘Atmospheric windows’ useful in Remote Sensing are created because :
1) Ozone absorbs UV radiation from the Sun

2) Carbon dioxide absorbs radiation in the infrared portion of the spectrum
3) Water vapour absorbs portions of the infrared and microwave radiation
4) all of these

ReAte ARAer & amsraprdl argaselIy araret @ @ @ 2

D sisier g3 & 3ve= & @ o §

2) EeFeH & SIPRE T l Sleel SIS 3TFarss A@ o §

3) P qUT ATSHIAT ISR I STl (a1eY AU ) A T g
4) gafr

Ques # :99

Horizontal permeable conduit for collecting ground water by gravity flow is known as -
1) Tube well

2) Infiltration gallery

3) Gravity gallery

4) Dugwell

AR IRIFT 9189 foietat ATAE) 9819 F FROT STl SH3T FFATATAT ¢ 3¢ FATFEd & 2
D zga et

2) 3T ardt

3) afadr el

4)ara—§r

Ques # :100



High amount of Sodium in water (sodium hazard) causes:
1) Reduction in soil permeability

2) Hardening of soil
3) Reduction in soil permeability and Hardening of soil, Both are correct

4) Only ( Hardening of soil) is correct

o & ITaeghar ¥ FE ARTA A A A Fr AT 2

D e fr areeaar A g S

2) fAEY AR g AT &

3) FArEY &Y IR A &Y ST & AT ALY HoR &Y ST &, et T8 g
) R (A FoR Y ST ) TET




